
 
 

Price list 

Spare parts for Handmixer COLLOMIX  Xo1, 110+230 V 

Product group 901 

 

 
 

 
Revision: 2013-04-25 

Our prices are to be understood in Euro (€) for. Our conditions of delivery and payment form part of the contract. Delivery ex works (EXW) With the publication of this price list, 
any former prices are no longer valid. Subject to changes and corrections. 

 

Geschäftsführer: Alexander Essing, 
Jörg Kiefer 
Registergericht HRB 127 Ingolstadt 
St.Nr.FA Ingolstadt 123/124/60018 
 

Collomix  Rühr- und Mischgeräte GmbH 
Postfach 11 46 D-85078 Gaimersheim 
Daimlerstr. 9 D-85080 Gaimersheim 
GLN 40 11024 000002 – EORI DE2984431 
 

Sparkasse Ingolstadt BLZ 721 500 00 Konto  100 610 
Volksbank Ingolstadt BLZ 721 608 18 Konto  8 408 068 
Postgirokonto München BLZ 700 100 80 Konto  196 96-800 
 

Tel: 08458-3298-0 
Fax: 08458-3298-30 
e-mail: info@collomix.de 
USt. ID-Nr. DE128579719 

 

 

No. Ref.-No. Designation Price € 

1 21.042 Screw 4x16 Tx20 0,25 

2 21.117 Motor cover 3,50 

3 21.045 Screw M6x16 Tx30 0,25 

4 21.003 Handle left top 2,00 

5 21.005 Handle right top 2,00 

6 21.068 Handle bracket 21,00 

7 21.058 Screw 4x25 Tx20 0,25 

8 21.047 Cord clamp 0,50 

9 21.035 Capacitor 1,50 

10 21.114 Switch assy 230V 19,00 

21.236 Switch assy 110V 21,50 

11 21.034 Clamp 0,50 

12 21.033 Spring 0,25 

13 21.032 Lever 0,50 

14 21.037 Cable switch 230V 2,50 

21.182 Cable switch 110V 2,50 

15 21.004 Handle left base 2,00 

16 21.006 Handle right base 2,00 
17 21.038 Cord Guard 230V 1,00 

21.071 Cord Guard 110V 1,00 

18 21.036 Mains Cable 230V with EU plug 9,20 

21.059 Mains Cable 230V with CH plug 9,20 

21.060 Mains Cable 230V with UK plug 9,20 

21.061 Mains Cable 230V with AU plug 11,20 

27.054 Mains Cable 110V with US plug 11,20 

27.035 Mains Cable 110V with UK plug 11,20 

19 61.117 Cable strap 0,25 

20 21.057 Handle complete 230V EU plug 56,00 

21 21.076 Brush set (pair) 230V 8,50 

21.217 Brush set (pair) 110V 10,50 

No. Ref.-No. Designation Price € 

22 21.040 Brush holder with brush 230V 7,50 

21.171 Brush holder with brush 110V 8,50 

23 21.039 Wire 230V 0,90 

21.181 Wire 110V 1,20 

24 21.001 Motor housing 9,00 

25 21.050 Sticker 0,50 

26 21.046 Hexagon nut M6 0,25 

27 21.018 Field coil 230V 26,00 

21.169 Field coil 110V 27,00 

28 21.044 Screw 3,5x70/25 0,50 

29 21.116 Baffle Plate 3,50 

30 21.015 Acoustic foam 1,80 

31 21.012 Rectifier 1,00 

32 21.013 Air Outlet 1,00 

33 21.025 Rubber sleeve 0,50 

34 21.027 Ball Bearing 626 2RS 2,50 

35 21.115 Rotor 230V 45,00 

21.216 Rotor 110V 46,00 

36 21.028 Ball Bearing 609 2RS 2,80 

37 21.118 Gear complete 86,00 

38 21.014 Acoustic foam 1,90 

39 21.074 Plate assy 18,50 

40 21.055 O-Ring 1,00 

41 21.075 Middle shaft 19,50 

42 21.022 Washer 0,25 

43 21.043 Screw 4x55/20 Tx20 0,25 

44 49.518 Hexafix quick-release coupling right -II 15,85 

45 49.582 Connector 5/8""x16 UN 7,80 

    



COLLOMIX  Xo1, 110+230 V 

 

 

 


